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a) 3x2+10x +8 = Bx + 4)(x +2)
b) 6a? + 11ab —2b% = (a + 2b)(6a — b)
o) xty—xy* =xy(x3 - %) = xy(x = »)(x? + xy +?)
d) 81a® +3=3((3a)® +13) =3(3a + 1)(9a® —3a + 1)

BECLBENVEEERTIDE, BIE3x+2 RURBX+6E585.
(&Y, 3x3 —4x2 +12x+16 = (x2 —2x +5)Bx +2) + (x + 6) &EXHEB.)

a) P(Q)=23+45:22-2.2-24=0. Th&VY, PX) AR x -2 TCE>1-EE2DRUB 0 THBIE, THDS
P(x) & x =2 TEUTINBZEA DN 3.
b) P(x) #x—2TEBE, P(x) = (x—2)(x24+7x+12). (x2+7x+12) #SSICEHARLT P(x) = (x —2)(x +
3)(x + 4).
¢) x34x2—6x = x(x—2)(x+3) EEHNBRSINDD T, BARKKIE (x—2) (x+3), B/I\DBHIE x (x—2)(x +3)(x +4).

a) a% b) 3x~2 c) 2 d) 9x2y3
1 8ab — 6a + 5b —x(2x —13) x—3
D be ®) 15ab ) Z—Dhax13) Y -G ha
x +27 x4+ 14 y—Xx 1
R T P D ar2re-o) &0 R Vo

(6] £EDIAED 1DORS%E x ET 5. HiHEEZER TS IIIABDOAERER (x —2)(x + 5)x. TNHEEDIIHED
& x3 kU 48em3 LI-DIZH'D, (x —2)(x +5)x =x3 +48. TNEEBL, BRNHMITSE Bx+8)(x—6)=0. &
CT x>012h5, x =6 DE—DRERD.

7] a) x<-3. x>1, b) 3—V2<x<3+2 ¢) x<—-1=+2 x>-1++2

y=x2-2x-2=(x-12-3&L, -1<x<5(IBVTHIS7FHEREZEH<. x = 5DEERKAT, B
13 x =1DEERNT, RIME -3.

9] a2 1MELEFTRE L@EY EFMEBEODIELHS, x BBEFTSE £ B5Y EFMES. LIch'>T, %
{7 (80+x) MO E EMEDFEY Ll (100-%) &5 Y, 5528 Goil) x G3Y EHFBED = (80+x)(100—%) =
—2(x = 60)2 +9800. CN&Y, BOFY LFEEESSHIHDFEMIE 80 + 60 = 140 .

b) a) LY, BOFTY LFLEZ[/EOx=60DEE. JOEE, Fflld 80 + 60 = 140 A.

BOIDESA x ET5E, EVDOESE 10— x &85, [EUOD] A TEOD] KURSITEO-HDREG
x<10—x. IBDEx <5 Thd. —hH EHEOBREE x(10—x) BOT,

x(10-x) 221 & —x24+10x-2120 = (x—3)(x—-7)<0 <= 3<x<7

INEFRFEDRKEEEHDETI S x <5,

[11] a) 5 b) 1 c)E d 5

[E=(CDD<]



%b*l@&gwécaz%gtat% CROT, RET%En BRVETES, RERFDED (110) B85, oh

7 % BTIEARBESICLEL. TRbS5, (T9o) < % ERBBn ARONEED. DO logp £EY, HEOE
AEBEABANTEETSDE, n(log;p9—logyy10) < logjgl —log;p9. =HICEEL T n(2logyp3 —1) < —2log;e 3.
ST loge3 = 04771 BV TKEHETHE (h ORBNEBDTRESOBEENEDB I EIEAELT),
n>= 20803 _ 90834, IADSE, 21 ARFSENEIOIENDHB.

1—210g103
a) 3 b) —2 ) a
2h —1)2 — (=1)2 4h% — 4h
a) f/(0) = lim ( ) =D = lim = lim (4h—4) = —4
h—0 h 5 h—0 h h—0
20+ h)—1)" =12 4h% + 4h
iy o L o B
b) f1(1) = lim ; = lim ———— = lim (47 + 4) = 4
2 P 5
2@+ h)—1)" — 2a —1 4h 8ah — 4h
&) )= tim GOEM N ZQaZ DT W Sah b e gy = 40a - 1)

a) f/(x) =2(x +3x2) + 2x(1 4 6x) = 2x(2 + 9x)
b) f/(x)=2Bx-5)+@2x+3)-3=12x—1
) fl) =2 4+x+D+x-D2x+1)=3x2 (fx)=x3 -1 IEPNFRTICRES.)

a) 16 b) 8
3 _ 2 _ _ 3 2
¢) f'(2) = lim @+h —C+h —C+h+1-3 lim W45+ Th _ lim h2 4+5h+7=17
h—0 h h—>0 h h—0
d y=7x—-11
&) fl(x) =1 t@éxta*ot%. X=0TOERy = —x+1, x:%'@@?ﬁﬁy:—x—i—%
f) f'(x) =3x2-2x—1 g) x =1, —%
h) BEEEEBE x = _% TEAE % x = 1 TIME 0.
) = 32 —ax—2 T, flx) = 0 EBBDE x = 213@ DE=E. :
-1< 2—3@ < 2+3m <3ERBBDT, COBBTEBREEE (BE |
2+ /10 25 —204/10
FEB) f(x)lFx = + V10 DEERINT, RIMB —T\/» = -3.27, [I
x=3DEERAT, BAE4EBD. I57EENEDLDICRB. / /
a) BDHETRFNEOFBRODTx > 0HD 10—2x > 0 HD 16—2x > 0. N | :
AIZ0<x <5. . \ |
b) 1 V = x(10 — 2x)(16 — 2x) = 4x(5 — x)(8 — x). TN
) V' = (4(x3 —13x2 4+ 40x))" = 4(3x% — 26x + 40) = 4(x — 2)(3x — 20). /
0<x<5DBETV =0EB50Ex =20 0<x <5OEBETE \ /
BEAZOVTHDE, x =20, FEV ERAERBD. -
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